2 [X(2.0km)

No. |lERL |Fogk |=T4 F—2L
94 | 1 6.35| "M L& |fiGk

61| 2 6.40[FKIR Eme |

71| 2 6.40|/\AK ¥l [/NEF

37| 4 6.420Pd B | E

30| 5 6.49[{E I = IEYIIIEE
56| 5 6.49| K% ¥ |[=AK
29 | 7 6.52[*FH ¥ Pk

34| 7 6.52|H AL |[lROE
6] 9 6.59|ifk KE | KA
50| 9 6.59|%H [l =K

14 | 11 T01|NIE HYE |4 i
62 | 12 | 7.04|hniE &P [ES

54 | 13 | 7.05|ZM HFN |[FRSE
31| 14 | 7.01|miH B [hnd) 1R
28 | 15 | 7.14|0H FETY )
35| 15 | 7.14|dbm 2E&E BT

20 | 17 | 76| KR BEE [MAER
38| 18 | 7.7 <& |iE

AT | 19 | 7.20(80R0 OVRT= |Pa
70 [ 20 | 7238 b BEE |/NEFEE
75| 21 | 7.24| k7 BE IS

11| 22 | 7.25[faA4 <o |

21| 22 | 7.25|HAK A [ A

95 | 22 | 7.25|FAH ARH|FEEL
97 | 25 | 7.26[Fnm #AE |#REERS
451 26 | 7.27| LA & A

18| 27 | 7.36|Rfh B [{THE
63 | 27 | 7.36[aiH W& |EL

77 29 | T4l|=x B |

55 | 30 | T7.43|AEF MAEE [BHEAT
91 | 31 | 7.56[MJR SEme  |FRHEE
13 ] 32 | 7.59| KA #AE &I

19| 33 | 8.06HHF 0¥ |

81| 34 | 8.07|nE &K= |t

12| 35 | 8.28|K¥E Zoi | Kk

85| 36 | 8.56|/KH ZEFn [FLECKHE
39 [ DNS 7352]




